woddurpuon)rmmar//:dyny

http://www.rtuonline.com

No. of Printed Pages : 3

1180

EF207/EL207 ROING. ¢ vevevreveneeresencener

2018
MICROPROCESSOR
fauifa e d7 9 [tftresam 37 : 70
Time allowed : Three Hours| [Maximum Marks : 70

Pz ) Uy HAE 8, 9y 7 @ et viw & I R/

Naote : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) Y FvT & TNy @) FHAR U G §F B |

Solve all parts of a question consecutively together.

(iii) Y% F7 F 74 98 & IR B |

Start each question on fresh page.

(iv) 2 aTaTa § 3 g # R st sga 8

Only English version is valid in case of difference in both the languages.

. () ‘U3EE-3° IS HEAAET |
Explain ‘Excess-3" code.
(ii) PSW (WVITH 7@ 2) | I 1 AT # ?
What do you mean by PSW (Program Status Word) ?
(iii) RAR T RRC i =t amzmse |
Explain the instructions RAR & RRC.
(iv) ‘srfyes-Teafi’ i g § awsms |
Explain ‘Dynamic-Debugging’ in brief.
(v) Frém LHLD 2040 H # fat T-states Bt & 2

How many T-states are there in the instruction LHLD 2040 H ? (2x5)

(10f4) P.T.O.
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(i) Tr= = guemse

Explain the following :

(a)

(b)

(i) (a)

(b)

fim =ig

Hamming code

ASCII HI3

ASCIl Code

(65),, B (95),, % B 2’s T ! FErIal & TR |
Subtract (65),, from (95),, using 2°s cémpliment.

FANET Tigme THiL ! U |

Explain floating point number.

8085 WrgshINTEE <1 fpamd () i forga &9 @ wmems |

Explain the operations (functions) of 8085 microprocessor in detail.

(i) 8085 aTERNAE & faftr= $g< =+ wagge |
Explain different interrupts of 8085 microprocessor.
(i) 8085 HIEHINAE & faft ‘ERim-ig’ =i awgnge |

Explain different *Addressing-Modes™ of 8085.

1180

(3x2)

(3x2)

(12)

(6x2)

(i) 8085 pp ¥ Aedtwiade TZH-BIT 7/ (AD,, - AD,) i f-wedttfaim &t wngs |
Explain demultiplexing of multiplexed address-data bus (AD, — AD,) in 8085

up.

(i) ST 1O 3R AT A 10 1 fadlg it a9zmsT |

Explain the difference between peripheral 1/O and memory mapped [/O.

o sravaett wvs iom fafe -

Write following assembly language program :

(i) g me-foe TR 1 gered, fam i (3uR) +
Subtraction of two 8-bit numbers without borrow.

(ii) 10 1T I @ § | TR BIe T=L Hl BifeT |

Program to find smallest number in an array of 10 data.
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7. = @ MVI A, 06 H &1 G959 3G S915C U6 GHFST | |19 & $o1 T-RE i @@ i v
$if |

Draw and explain the timing diagram for instruction MVI A, 06 H. Also. find out total
number of T-states. (12)

8. T & forrdf @ we wftra feoafora forflaa :
Write short notes on any two of the following :
(i) 8085 pp % wrEn fdw
Branching Instructions of 8085 up.
(i) ‘wEed qul 3R waita segwE (Few)
Subroutine and related instructions.
(i) WTIShIHTET T T

Organization of a Micro-computer (6x2)
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